o
[N

<0 > (rad)
o
o [
[ [¢)]

........

.....

............................

-2

TN | I A A I I ' A P
- L4 v 4 4444
F. " 4
o 4 |

-1

0 1 2 3
TP n (PCA to beamline)

< o cot(y) >

...................................
...................................

| P
N

-1

0 1 2 3
TP n (PCA to beamline)

—=— DQM_mKkFit_baseline
—e— DQM_mkFit
—— DQM_mkFit_TT_RetrainV2_WP1_6iter_ep3

baseline6iter

100

< 00, > (M)

0_1005........i...l....i....l....
T L5F :
24 E :
il i
osf--1IHi : |
% -2 -1 0 1 2 3
TP n (PCA to beamline)
s S ; . . ;
= E : ! : :
o E : : : :
= T2 TR TR
°  2F R ] :
v E i b N i
1:_ ; - S -
of--{ A IRE AT -t
: 11 e LTI
—2F it ;
~3f-- |- 5
—ap--|frtht- ;
o —5EHMULL ML L L L
T 2k i (L
o E
i :
ok : i i i ; ]
3 -2 -1 o0 1 2 3

TP n (PCA- to beamline)

<od,> (um)

&
+

[¢N A R A R

-2

-1

0 1 2 3
TP n (PCA to beamline)



	Contents
	Page 1


